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By clearly defining the two concepts of e and 0, we can prove various theorems and
unsolved conjectures from our new knowledge about numbers. And not only that, the
interpretation of this definition can be extended to physics.

1. Definition
First, +oo is constant at any observation point (position). If a set of real numbers is R, then On
the other hand, when x (€ R)is taken on a number line, the absolute value X becomes larger
toward + oo as the absolute value X is expanded. Similarly, as the size decreases, the absolute
value X decreases toward 0. Furthermore, x (-1) represents the reversal of the direction of the
axis. Second, from the definition of napier number e.
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2. Introduction to logarithms

®log[— g] =loge=1

Dlogl = log(— e ): 0

Plogh = log{L] = lt:Jg(e_1 ): log(—e)= log(ij =-1
T o 2
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log(— 1) = log(e‘2 ): —2loge=-2
Mlog(-2) =log(+ oo) =loge=1
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3. Consideration
R x (:00) = 200, R + (£ 00) = 200, (—1)x (£ 00) # Foo (_1)X(ioo):iioo
Here, from R x (£o0) = to0

(200)? i =400
S R=(30)-1=(-2)-2=-4=1
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4. Riemann hypothesis
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5. Aexpression for =
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6. Quaternion
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7. Application to Physics
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(#).Uncertainty Principle
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(ii). Equivalence Principle
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8. Big Bang Model established in 2013
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9. Conclusion
Now that ""cosmic annihilation™ has become a truth in my No. 26, "Big Bang Model

Established in 2013," | believe that nuclear weapons are the only tool humanity has to
prevent cosmic annihilation. On a global scale, nuclear weapons are useless, but if humanity
gives them up, our extinction is already assured by cosmic annihilation. In short, humanity
must recognize the inhumanity of nuclear weapons and continue to face them rationally and
logically. | hope that my research so far will contribute to preventing the annihilation of the
universe.



